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Chip 0 Vt50 at 2.00fC Nent = 128    
 0.3682 ±Constant = 3.401 

 0.6636 ±Mean     = 115.1 

 0.4692 ±Sigma    = 7.508 
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 0.3682 ±Constant = 3.401 

 0.6636 ±Mean     = 115.1 

 0.4692 ±Sigma    = 7.508 
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Chip 1 Vt50 at 2.00fC Nent = 128    
 0.3524 ±Constant = 3.254 

 0.6935 ±Mean     = 113.6 

 0.4903 ±Sigma    = 7.846 

Chip 1 Vt50 at 2.00fC Nent = 128    
 0.3524 ±Constant = 3.254 

 0.6935 ±Mean     = 113.6 

 0.4903 ±Sigma    = 7.846 
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Chip 2 Vt50 at 2.00fC Nent = 128    
 0.3409 ±Constant = 3.126 

 0.722 ±Mean     = 114.8 

 0.5111 ±Sigma    = 8.169 
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 0.3409 ±Constant = 3.126 
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 0.5111 ±Sigma    = 8.169 
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Chip 3 Vt50 at 2.00fC Nent = 128    
 0.3748 ±Constant = 3.463 

 0.6517 ±Mean     = 114.7 
 0.4608 ±Sigma    = 7.374 
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 0.3748 ±Constant = 3.463 

 0.6517 ±Mean     = 114.7 
 0.4608 ±Sigma    = 7.374 
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Chip 4 Vt50 at 2.00fC Nent = 128    
 0.3672 ±Constant = 3.392 

 0.6653 ±Mean     = 114.4 
 0.4704 ±Sigma    = 7.527 

Chip 4 Vt50 at 2.00fC Nent = 128    
 0.3672 ±Constant = 3.392 

 0.6653 ±Mean     = 114.4 
 0.4704 ±Sigma    = 7.527 
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Chip 5 Vt50 at 2.00fC Nent = 128    
 0.3359 ±Constant = 3.103 

 0.7274 ±Mean     =   115 
 0.5143 ±Sigma    = 8.229 
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 0.3359 ±Constant = 3.103 

 0.7274 ±Mean     =   115 
 0.5143 ±Sigma    = 8.229 

Gain (mV/fC)0 10 20 30 40 50 60 70 80 90 100

n
(C

h
an

n
el

s)

0

5

10

15

20

25

Chip 0 Gain at 2.00fC Nent = 128    

 2.384 ±Constant = 22.02 
 0.1025 ±Mean     = 51.21 
 0.07247 ±Sigma    =  1.16 
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Chip 1 Gain at 2.00fC Nent = 128    

 1.991 ±Constant = 18.39 
 0.1227 ±Mean     = 50.22 
 0.08676 ±Sigma    = 1.388 

Chip 1 Gain at 2.00fC Nent = 128    

 1.991 ±Constant = 18.39 
 0.1227 ±Mean     = 50.22 
 0.08676 ±Sigma    = 1.388 
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Chip 2 Gain at 2.00fC Nent = 128    

 2.769 ±Constant = 25.58 
 0.08822 ±Mean     = 49.56 
 0.06237 ±Sigma    = 0.998 

Chip 2 Gain at 2.00fC Nent = 128    

 2.769 ±Constant = 25.58 
 0.08822 ±Mean     = 49.56 
 0.06237 ±Sigma    = 0.998 
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 2.763 ±Constant = 25.52 
 0.08841 ±Mean     = 51.11 

 0.06252 ±Sigma    =     1 
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 2.763 ±Constant = 25.52 

 0.08841 ±Mean     = 51.11 

 0.06252 ±Sigma    =     1 
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Chip 4 Gain at 2.00fC Nent = 128    
 2.485 ±Constant = 22.95 

 0.09832 ±Mean     = 50.47 

 0.06952 ±Sigma    = 1.112 

Chip 4 Gain at 2.00fC Nent = 128    
 2.485 ±Constant = 22.95 

 0.09832 ±Mean     = 50.47 

 0.06952 ±Sigma    = 1.112 
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Chip 5 Gain at 2.00fC Nent = 128    
 2.105 ±Constant = 19.44 

 0.1161 ±Mean     = 50.08 

 0.08207 ±Sigma    = 1.313 

Chip 5 Gain at 2.00fC Nent = 128    
 2.105 ±Constant = 19.44 

 0.1161 ±Mean     = 50.08 

 0.08207 ±Sigma    = 1.313 
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Chip 0 Extrapolated Offset Nent = 128    
 1.295 ±Constant = 11.96 

 0.6039 ±Mean     = 12.93 
 0.427 ±Sigma    = 6.832 

Chip 0 Extrapolated Offset Nent = 128    
 1.295 ±Constant = 11.96 

 0.6039 ±Mean     = 12.93 
 0.427 ±Sigma    = 6.832 
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Chip 1 Extrapolated Offset Nent = 128    
 1.325 ±Constant = 12.24 

  0.59 ±Mean     = 13.26 
 0.4172 ±Sigma    = 6.675 
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 1.325 ±Constant = 12.24 

  0.59 ±Mean     = 13.26 
 0.4172 ±Sigma    = 6.675 
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Chip 2 Extrapolated Offset Nent = 128    
  1.15 ±Constant = 10.62 

 0.6798 ±Mean     = 16.35 
 0.4807 ±Sigma    = 7.691 

Chip 2 Extrapolated Offset Nent = 128    
  1.15 ±Constant = 10.62 

 0.6798 ±Mean     = 16.35 
 0.4807 ±Sigma    = 7.691 
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Chip 3 Extrapolated Offset Nent = 128    

 1.219 ±Constant = 11.26 
 0.6415 ±Mean     = 12.38 
 0.4536 ±Sigma    = 7.258 
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 1.219 ±Constant = 11.26 
 0.6415 ±Mean     = 12.38 
 0.4536 ±Sigma    = 7.258 
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Chip 4 Extrapolated Offset Nent = 128    

   1.3 ±Constant =    12 
 0.6016 ±Mean     =  13.2 
 0.4253 ±Sigma    = 6.806 
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   1.3 ±Constant =    12 
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Chip 5 Extrapolated Offset Nent = 128    

 1.113 ±Constant = 10.28 
 0.7024 ±Mean     = 14.98 
 0.4967 ±Sigma    = 7.947 

Chip 5 Extrapolated Offset Nent = 128    

 1.113 ±Constant = 10.28 
 0.7024 ±Mean     = 14.98 
 0.4967 ±Sigma    = 7.947 
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Chip 0 Input Noise at 2.00fC Nent = 128    
 4.523 ±Constant = 41.78 

 3.601 ±Mean     =  1719 

 2.546 ±Sigma    = 40.74 
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 4.523 ±Constant = 41.78 

 3.601 ±Mean     =  1719 

 2.546 ±Sigma    = 40.74 

Input Noise (ENC)0 500 1000 1500 2000 2500

n
(C

h
an

n
el

s)

0

5

10

15

20

25

30

35

40

Chip 1 Input Noise at 2.00fC Nent = 128    
 4.598 ±Constant = 42.47 

 3.543 ±Mean     =  1730 

 2.505 ±Sigma    = 40.08 

Chip 1 Input Noise at 2.00fC Nent = 128    
 4.598 ±Constant = 42.47 

 3.543 ±Mean     =  1730 

 2.505 ±Sigma    = 40.08 
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Chip 2 Input Noise at 2.00fC Nent = 128    
 4.167 ±Constant =  38.5 

 3.908 ±Mean     =  1736 
 2.763 ±Sigma    = 44.22 
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 4.167 ±Constant =  38.5 

 3.908 ±Mean     =  1736 
 2.763 ±Sigma    = 44.22 
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 4.662 ±Constant = 43.06 
 3.494 ±Mean     =  1675 
  2.47 ±Sigma    = 39.53 
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 4.662 ±Constant = 43.06 
 3.494 ±Mean     =  1675 
  2.47 ±Sigma    = 39.53 
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Chip 4 Input Noise at 2.00fC Nent = 128    

 4.554 ±Constant = 42.07 
 3.577 ±Mean     =  1682 
 2.529 ±Sigma    = 40.46 
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 4.554 ±Constant = 42.07 
 3.577 ±Mean     =  1682 
 2.529 ±Sigma    = 40.46 

Input Noise (ENC)0 500 1000 1500 2000 2500

n
(C

h
an

n
el

s)

0

5

10

15

20

25

30

35

Chip 5 Input Noise at 2.00fC Nent = 128    

 3.878 ±Constant = 35.83 
   4.2 ±Mean     =  1720 
 2.969 ±Sigma    = 47.51 
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 3.878 ±Constant = 35.83 
   4.2 ±Mean     =  1720 
 2.969 ±Sigma    = 47.51 
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Chip 0 Vt50 at 2.00fC Nent = 128    
 0.3649 ±Constant = 3.371 

 0.6695 ±Mean     = 115.5 

 0.4734 ±Sigma    = 7.574 

Chip 0 Vt50 at 2.00fC Nent = 128    
 0.3649 ±Constant = 3.371 

 0.6695 ±Mean     = 115.5 

 0.4734 ±Sigma    = 7.574 
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Chip 1 Vt50 at 2.00fC Nent = 128    
 0.3949 ±Constant = 3.631 

 0.6215 ±Mean     = 113.5 

 0.4399 ±Sigma    = 7.031 

Chip 1 Vt50 at 2.00fC Nent = 128    
 0.3949 ±Constant = 3.631 

 0.6215 ±Mean     = 113.5 

 0.4399 ±Sigma    = 7.031 
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Chip 2 Vt50 at 2.00fC Nent = 128    
 0.3603 ±Constant = 3.328 

 0.678 ±Mean     = 115.8 

 0.4794 ±Sigma    = 7.671 
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 0.3603 ±Constant = 3.328 

 0.678 ±Mean     = 115.8 

 0.4794 ±Sigma    = 7.671 
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 0.3548 ±Constant = 3.277 

 0.6887 ±Mean     = 118.1 
 0.4869 ±Sigma    = 7.791 

Chip 3 Vt50 at 2.00fC Nent = 128    
 0.3548 ±Constant = 3.277 

 0.6887 ±Mean     = 118.1 
 0.4869 ±Sigma    = 7.791 
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Chip 4 Vt50 at 2.00fC Nent = 128    
 0.3072 ±Constant = 2.837 

 0.7954 ±Mean     = 123.2 
 0.5627 ±Sigma    = 8.999 

Chip 4 Vt50 at 2.00fC Nent = 128    
 0.3072 ±Constant = 2.837 

 0.7954 ±Mean     = 123.2 
 0.5627 ±Sigma    = 8.999 
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 0.3508 ±Constant =  3.24 

 0.6965 ±Mean     = 115.4 
 0.4924 ±Sigma    = 7.879 
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 0.3508 ±Constant =  3.24 

 0.6965 ±Mean     = 115.4 
 0.4924 ±Sigma    = 7.879 
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 2.856 ±Constant = 26.38 
 0.08555 ±Mean     = 50.53 

 0.06049 ±Sigma    = 0.9679 
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 2.856 ±Constant = 26.38 
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 0.06049 ±Sigma    = 0.9679 

Gain (mV/fC)0 10 20 30 40 50 60 70 80 90 100

n
(C

h
an

n
el

s)

0

5

10

15

20

25

Chip 1 Gain at 2.00fC Nent = 128    

 2.673 ±Constant = 24.69 
 0.0914 ±Mean     = 50.13 
 0.06463 ±Sigma    = 1.034 
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 2.021 ±Constant = 18.67 
 0.1209 ±Mean     = 52.06 
 0.08549 ±Sigma    = 1.368 
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 2.415 ±Constant = 22.31 
 0.1012 ±Mean     = 51.28 

 0.07153 ±Sigma    = 1.144 
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 0.1057 ±Mean     = 55.85 
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 2.107 ±Constant = 19.46 

 0.116 ±Mean     = 51.54 

 0.08199 ±Sigma    = 1.312 
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 1.296 ±Constant = 11.97 

 0.6031 ±Mean     = 11.41 
 0.4264 ±Sigma    = 6.823 
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 1.203 ±Constant = 11.11 
 0.6498 ±Mean     = 15.58 
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 1.017 ±Constant = 9.397 
 0.7685 ±Mean     = 11.64 
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 1.203 ±Constant = 11.11 
  0.65 ±Mean     = 12.06 
 0.4596 ±Sigma    = 7.354 
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 5.324 ±Constant = 49.18 

 3.059 ±Mean     =  1712 

 2.163 ±Sigma    = 34.61 
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 4.089 ±Constant = 37.77 

 3.984 ±Mean     =  1666 

 2.817 ±Sigma    = 45.07 
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 4.145 ±Constant = 38.29 
 3.929 ±Mean     =  1698 
 2.778 ±Sigma    = 44.45 
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Input Noise (ENC)0 500 1000 1500 2000 2500
n

(C
h

an
n

el
s)

0

5

10

15

20

25

30

35

40

45
Chip 4 Input Noise at 2.00fC Nent = 128    

 4.082 ±Constant = 37.71 
  3.99 ±Mean     =  1673 
 2.821 ±Sigma    = 45.14 
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 3.772 ±Constant = 34.85 
 4.318 ±Mean     =  1664 
 3.053 ±Sigma    = 48.85 
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 3.053 ±Sigma    = 48.85 
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